
990 - TRACTOR, COMPACT UTILITY
PC2830

REAR AUXILIARY HYDRAULIC KIT - ST540878

Aug 15 2022

Page 1 of 3Copyright © 2022 Deere & Company. All Rights Reserved.



990 - TRACTOR, COMPACT UTILITY
PC2830

REAR AUXILIARY HYDRAULIC KIT - ST540878

Aug 15 2022

KEY PART NO. PART NAME QTY REMARKS

1 AM877597 Line 1

2 M800848 Gasket 4

3 M800853 Hollow Screw 3

4 AM877599 Line 1

5 AM876687 Clamp 1 (INCLUDES M802950)

6 M802950 Clamp 1

7 12M7065 Lock Washer 5 8 mm

8 19M7139 Cap Screw 1 M8 X 20

9 AM877598 Line 1 PRESSURE

10 M804943 Bracket 1 (ALSO ORDER M72810)

11 19M7162 Cap Screw 2 M8 X 16

12 M804944 Support 1

13 14M7273 Nut 2 M8

13 24M7055 Washer 2 8.400 X 16 X 1.600 mm

14 19M7646 Cap Screw 2 M14 X 25

15 12M7068 Lock Washer 2 14 mm

16 AM105465 Hydraulic Hose 1

Page 2 of 3Copyright © 2022 Deere & Company. All Rights Reserved.



KEY PART NO. PART NAME QTY REMARKS

17 R26375 O-Ring 2

17 A-R26375 O-Ring 2

18 AM105467 Hydr. Quick Coupler Plug 1

18 A-AM105467 HYDR. QUICK COUPLER PLUG 1

19 AM105466 Hyd. Quick-Connect Coupler 1 (USED ON TRACTOR WITHOUT SCV)

20 M42702 Snap Ring 1

21 T78716 Nut 1

22 24M7051 Washer 1 21 X 37 X 3 mm

23 M72810 Label 1 (ENGLISH)

23 M76402 Label 1 (FRENCH)

23 M93620 Label 1 (GERMAN)

24 ....... Bracket 1 (NOT USED THIS APPLICATION)

25 T77857 O-Ring 1

25 A-T77857 O-RING 1

Page 3 of 3Copyright © 2022 Deere & Company. All Rights Reserved.


